





Table 1.2 Return incom	ens to inve ne (per cen	stment in ea nt)	lucation	by level ai	nd per capit	a
		Social	Private			
Per capita income group	Primary	Secondary	Higher	Primary	Secondary	High
Low income (\$755 or less)	21.3	15.7	11.2	25.8	19.9	26.0
Middle income (to \$9265)	18.8	12.9	11.3	27.4	18.0	193
High income (\$9266 or more)	13.4	10.3	9.5	25.6	12.2	124
World	18.9	13.1	10.8	26.6	17.0	100

		Social	hall	Private			
Region	Primary	Secondary	Higher	Primary	Secondary	Higher	
Asia*	16.2	11.1	11.0	20.0	15.8	18.2	
Europe/Middle East/North Africa*	15.6	9.7	9.9	13.8	13.6	18.8	
Latin America/ Caribbean	17.4	12.9	12.3	26.6	17.0	19.5	
OECD	8.5	9.4	8.5	13.4	11.3	11.6	
Sub-Saharan Africa	25.4	18.4	11.3	37.6	24.6	27.8	
World	18.9	13.1	10.8	26.6	17.0	19.0	

			Social		Private			
Country	Year	Prim.	Sec.	Higher	Prim.	Sec.	Higher	
Bolivia	1990	13	6	13	20	6	19	
China	1993	14	13	11	18	13	15	
El Salvador	1990	16	13	8	19	15	10	
Ethiopia	1996	15	14	12	25	24	27	
Greece	1993		7	6		8	8	
Mexico	1992	12	15	11	19	20	16	
Nepal	1999	16	8	9	17	9	12	
New Zealand	1991		12	10		14	12	
Paraguay	1990	20	13	11	24	15	14	
Vietnam	1992	14	5	6	11	4	3	

le 4.2 Mincerian returns to education								
ncome band (1985 US\$)	Mean income	Years' education	Mincerian return					
ow income (<\$610)	\$299	6.4	11.2					
ower middle income (\$610-\$2449)	\$1402	8.4	11.7					
pper middle income (\$2500-\$7619)	\$4184	9.9	7.8					
ligh income $(>$ \$7619)	\$13100	10.9	6.6					
Vorld	\$2020	8.7	10.1					

Table 4.3 Growth econon	a of labour quality a nic growth, 1960–89	nd its contribution	to overall
	Labour quality improvement	Contribution to growth	Growth of output per capita
Canada	0.74	0.50	2.93
France	0.73	0.49	3.04
Germany	0.41	0.28	2.91
Italy	0.19	0.12	3.74
lapan	1.16	0.79	5.39
United Kingdom	0.38	0.26	2.15
Tele I Ch	0.59	0.40	2.07



	Components in educate	of total social ration (investments in improving qu	es of return to creasing access aality) ¹	investment and/or
Region of the world	Conventional monetary social rates of return ³ Fig. 6.1: A1 + B1	Non-market private returns 80 per cent of col. 1, ³ from Table 6.6 Fig. 6.1: A2 + B2 (2)	Non-market education externalities ⁴ (indirect effects) Fig. 6.1: B-3 (3)	Total social rates of return (includes non- monetary) ⁵ (cols 1+2+3) (4)
Africa			Constant Service	Appendiation of
Primary	25.4	20.3	9.1	54.8
Secondary	18.4	14.7	6.6	39.7
Higher	11.3	9.0	4.0	243
Latin America	Carl and the second			
Primary	17.4	13.9	57	37.0
Secondary	12.9	10.3	47	27.4
Higher	12.3	9.8	40	26.1
Asia	A DEPARTMENT OF THE	State of the second	4.0	20.1
Primary	16.2	13.0	50	21.2
Secondary	11.1	80	3.0	34.2
Higher	11.0	8.5	3.5	23.5
OECD	To-Salar Salar	0.0	3.4	23.2
Primary	85	10		and the second second
Secondary	9.4	0.8	2.5	17.8
Higher	9.6	7.5	2.8	19.7
	0.3	6.8	75	17.8

Type of outcome affected by education (1)	Percentage change in outcome of education after 40 years* (2)	Basis for estimate (after a \$13.80 increase in per capita investment in Africa) (3)	Source (4)
6. Lower crime rates	2% 4 in homicide rate 1.2% T in property crime	Secondary enrolment reduces property crime by 9% if income controlled for	Appiah and McMahon (2002 pp. 51-2)
7. Deforestation 8. Water pollution	Plus 2% rate of return due to lower incarceration costs $0.3\% \downarrow$ in annual forest (and wildlife) destruction rate $13\% \downarrow$ in water pollution	All occur from combined indirect effects of slower population growth, less poverty, more democracy and faster	Lochner (1999) Appiah & McMahon (2002, pp. 41, 52) McMahon (2002a, pp. 216, 234–5)
(for India, Better data) Air pollution 0. Poverty reduction	14% ↑, growth increases it 18%↓ in poverty	economic growth. If primary and junior secondary education is	A.&M. (2002, p. 51)
. Inequality reduced	8%↓ in inequality (in GINI) Positive as HC is gained,	extended to rural villages Only if access widened Jr. See helps provinces, higher	A.&M. (2002, p. 51)
3.) spillovers 4. Informal knowledge dissemination	negative where HC leaves Overlaps 1-13 above, unknown net effects 20% î in enrolment rates	ed. 1 emigration Technologies raise non-market productivity too From 2%T in investment	e.g. Moretti (2002) McMahon (2002a, p. 164)

Table 6.4 Estimates of nor effects	1-market education externalities,	simulations of outcomes over 4	0 years, static plus delayed
Type of outcome affected by education (1)	Percentage change in outcome of education after 40 years* (2)	Basis for estimate (after a \$13.80 increase in per capita investment in Africa) (3)	Source (4)
Better public health Lower pop. growth Joenocratization Human rights	Positive, but public v. private health effect unknown 0% in Africa.4 elsewhere 36% T in democracy (i.e. Freedom House Index up 2.9 (from 3.7) to 6.6 Includes 2.3% for more volunteering: 2% of mkt rate Includes more fin. pilts: 12% give over 3% of their income 4% T in human rights, on	Microregressions only, AIDS educ, potential J fertility but health Note: this investment of \$13.80 per capita raises gross enroiment rate by about 20 percentage points Volunteering and financial giving are at each income level	Grossman & Kaestner (1997) Democratization: Appiah and McMahon (2002, pp. 50-51. 65-7), data from <i>Freedom</i> <i>House</i> (1999, p. 536): volunteering and financial giving: NCES (1995, 1998)
5. Political stability	Freedom House Index 3.1% T in political stability,		Appiah & McMahon (2002,

Public and Private Inputs in Aggregate Production and Growth: A Cross-country Efficiency Approach

António Afonso

(ISEG/UTL-Technical University of Lisbon, UECE-Research Unit on Complexity and Economics, European Central Bank)

Miguel St. Aubyn

(ISEG/UTL-Technical University of Lisbon, UECE-Research Unit on Complexity and Economics)

Outline

- 1. Introduction
- 2. Literature
- 3. Methodology
- 4. Empirical analysis
- 5. Conclusion

















	Data	
	Original series	Ameco codes
(1)	Gross Domestic Product at 2000 prices, thousands national currency 1/	1.1.0.0.OVGD
sis	Net capital stock at 2000 prices: total economy 1/	1.0.0.0.OKND
alys	Employment, persons: all domestic industries (National accounts) 1/	1.0.0.0.NETD
al aná	GDP purchasing power parities, Units of national currency per PPS (purchasing power standard) 1/	1.0.212.0.KPN
oirica	Human capital (average years of schooling of the working age population)	2/
m.	Government net capital stock, volume	3/
ш	Private total net capital stock, volume	Our computation
	Government effectiveness 4/	
	 Series from the European Commission AMECO database. Cohen and Soto (2007). Kamps (2006). Kaufmann et al. (2008), World Bank. 	
		23



VRS technical e	fficiency	y scores						
(output: GDP p	er empl	oyee; inputs:	private	e and publi	ic capita	al, human o	capital)	
	1970	Peers	1980	Peers	1990	Peers	2000	Peers
Australia	0.932	FI, CA, NL	0.937	CA, US, PR	0.924	CA, BE, PT	0.970	DK, IR, PT
Austria	0.897	CA, US, JP, PT	0.905	DK, US, PT	0.854	US, BE, PT	0.817	US, IT, BE
Belgium	1.000	BE	1.000	BE	1.000	BE	1.000	BE
Canada	1.000	CA	1.000	CA	1.000	CA	1.000	CA
Germany	0.846	BE, CA	0.906	BE, PT	0.891	IT, BE	0.814	DK, BE, US
Denmark	0.999	US, NL, PT	1.000	DK	1.000	DK	1.000	DK
Spain	1.000	ES	1.000	ES	1.000	ES	0.943	IT, PT, IR
Finland	0.812	ES, BE, CA	0.852	ES, BE, PT	0.864	BE, CA, ES	0.915	BE, US, IR
France	0.942	ES. US, IT, CA	0.935	US, IT	0.941	IT, US	0.920	NO, IT, US
UK	0.825	US, IT, ES, PT	0.858	PT, US, DK	0.898	BE, US, PT	0.968	DK, IR, PT
Greece	0.915	US, IT, ES, PT	0.884	BE, ES, IT	0.782	ES, CA, PT	0.749	PT, IR, IT
Ireland	0.744	US, CA, JP, PT	0.737	US, BE, PT	0.765	BE, US, IT	1.000	IR
Italy	1.000	IT	1.000	IT	1.000	IT	1.000	IT
Japan	1.000	JP	0.984	DK, PT	0.877	DK, US, PT	0.775	US, DK
Netherlands	0.912	US, IT, PR	0.919	BE, US, IT	0.869	US, IT, BE	0.871	IR, US, PT
Norway	0.882	BE, CA	0.917	BE. US	0.955	IT, US	1.000	NO
Portugal	1.000	PR.	1.000	PT	1.000	PT	1.000	PT
Sweden	0.929	BE, CA	0.900	BE, ES	0.975	CA, PT	0.881	BE, IR
USA	1.000	US	1.000	US	1.000	US	1.000	US
Average	0.928		0.933		0.926		0.928	
Countries on the								
frontier	7		7		7		8	

Table 2 - Malmquist efficiency, technology, and total factor productivity change indices
(Output-oriented): 1970-2000 (output; GDP; inputs: private and public capital, human
capital)

	1	970-198	0	1	980-199	0	1	990-200	0	1	.970-200	0
	EC	TC	TFP	EC	TC	TFP	EC	TC	TFP	EC	TC	T
Australia	1.061	0.922	0.979	0.988	0.980	0.968	1.138	0.963	1.096	1.061	0.955	1.
Austria	1.032	0.924	0.953	0.980	1.012	0.992	0.954	1.041	0.993	0.988	0.991	0.
Belgium	1.000	1.009	1.009	1.000	1.059	1.059	1.000	1.042	1.042	1.000	1.036	1.
Canada	1.000	0.952	0.952	0.954	0.991	0.945	1.139	0.935	1.065	1.028	0.959	0.
Germany	1.111	0.967	1.074	0.999	1.039	1.037	1.028	0.993	1.021	1.045	0.999	1.
Denmark	1.063	0.913	0.970	1.000	0.967	0.967	1.000	1.057	1.057	1.021	0.977	0.
Spain	1.046	1.040	1.089	1.000	1.014	1.014	0.913	1.044	0.954	0.985	1.033	1.
Finland	1.032	0.995	1.026	0.989	1.023	1.012	1.174	1.005	1.180	1.062	1.008	1.
France	0.994	1.027	1.021	0.970	1.063	1.032	1.040	1.020	1.061	1.001	1.036	1.
UK	1.098	0.919	1.009	1.070	0.960	1.027	1.115	0.972	1.084	1.094	0.950	1.
Greece	0.992	1.055	1.047	0.869	1.020	0.887	0.961	1.083	1.040	0.939	1.053	0.
Ireland	1.063	0.968	1.028	1.038	1.057	1.098	1.312	1.064	1.396	1.131	1.029	1.
Italy	1.000	1.099	1.099	1.000	1.066	1.066	1.000	1.016	1.016	1.000	1.060	1.
Japan	0.981	0.878	0.861	0.894	0.975	0.871	0.883	1.054	0.931	0.918	0.966	0.
Netherlands	1.036	0.987	1.023	0.949	1.065	1.011	1.008	1.038	1.046	0.997	1.029	1.
Norway	1.056	0.994	1.050	1.030	1.052	1.084	1.180	1.024	1.208	1.087	1.023	1.
Portuga1	1.000	0.958	0.958	1.000	0.945	0.945	0.947	0.948	0.897	0.982	0.950	0.
Sweden	0.943	1.002	0.945	1.068	0.989	1.056	1.051	0.990	1.041	1.019	0.994	1.
USA	1.029	0.959	0.987	1.028	1.026	1.054	1.000	1.058	1.058	1.019	1.014	1.
Average	1.027	0.976	1.007	0.990	1.015	1.055	1.038	1.017	1.058	1.019	1.003	1.
Notes: EC - Ef	ficiency	Change;	TC – Te	chnology	y Change	; TFP – '	Fotal Fac	tor Prod	uctivity o	hange (1	FP=EC	۴TC
	-	-			-				-			
												26

Empirical analysis (4)

		1970-1980			1980-1990)	1	990-2000)	1	970-200)
	ΔGDP	ΔTFP	∆Input	ΔGDP	ΔTFP	Δ Input	ΔGDP	ΔTFP	∆Input	ΔGDP	ΔTFP	ΔInpu
Australia	1.189	0.922	1.215	1.121	0.968	1.158	1.199	1.096	1.094	1.598	1.013	1.57
Austria	1.387	0.924	1.456	1.233	0.992	1.243	1.205	0.993	1.214	2.061	0.979	2.10
Belgium	1.356	1.009	1.344	1.209	1.059	1.141	1.163	1.042	1.116	1.906	1.036	1.83
Canada	1.065	0.952	1.118	1.098	0.945	1.162	1.151	1.065	1.081	1.346	0.986	1.36
Germany	1.304	0.967	1.215	1.127	1.037	1.087	1.045	1.021	1.024	1.536	1.044	1.47
Denmark	1.198	0.913	1.235	1.189	0.967	1.229	1.202	1.057	1.137	1.710	0.997	1.71
Spain	1.440	1.040	1.322	1.259	1.014	1.242	1.077	0.954	1.128	1.951	1.017	1.91
Finland	1.337	0.995	1.303	1.271	1.012	1.256	1.295	1.180	1.098	2.200	1.070	2.05
France	1.315	1.027	1.288	1.223	1.032	1.185	1.139	1.061	1.074	1.833	1.038	1.76
UK	1.207	0.919	1.196	1.166	1.027	1.135	1.260	1.084	1.162	1.771	1.040	1.70
Greece	1.345	1.055	1.284	1.023	0.887	1.153	1.196	1.040	1.150	1.645	0.988	1.66
Ireland	1.451	0.968	1.412	1.370	1.098	1.248	1.434	1.396	1.027	2.850	1.164	2.44
Italy	1.365	1.099	1.242	1.262	1.066	1.184	1.162	1.016	1.144	2.003	1.060	1.88
Japan	1.462	0.878	1.698	1.273	0.871	1.462	1.135	0.931	1.219	2.113	0.887	2.38
Netherlands	1.228	0.987	1.201	1.112	1.011	1.100	1.118	1.046	1.069	1.527	1.026	1.48
Norway	1.277	0.994	1.216	1.253	1.084	1.156	1.266	1.208	1.048	2.025	1.112	1.82
Portugal	1.289	0.958	1.346	1.206	0.945	1.277	1.209	0.897	1.348	1.880	0.933	2.01
Sweden	1.131	1.002	1.197	1.164	1.056	1.102	1.281	1.041	1.230	1.687	1.012	1.66
USA	1.087	0.959	1.101	1.133	1.054	1.075	1.187	1.058	1.122	1.461	1.033	1.41
Note:	$\Lambda Input = \Lambda G$	DP/ATEP										

Decomposing the increase in the inputs into the 3 types of capital, imposing the restriction $\Delta Input_i = a_1 PrivK_i + a_2 PubK_i + (1-a_1-a_2)HK_i$

Table 5 – Decomposition of the change in total input

	Private capital	Public capital	Human capital	R-square	N
1970-1980	0.277 ***	0.276 ***	0.446	0.77	19
	(3.63)	(4.50)			
1980-1990	0.733 ***	-0.025	0.293	0.79	19
	(11.65)	(-0.37)			
1990-2000	0.652 ***	0.185 ***	0.165	0.89	19
	(11.82)	(0.183)			
1970-2000	0.556 ***	0.116	0.328	0.80	19
	(6.93)	(1.61)			

Note: t-statistics in brackets.

Empirical analysis (6)

SFA Table 6 - Stochastic frontier estimation results (with time trend) Empirical analysis (7) Coefficient Standardt-statistic error Production function Constant 0.744 0.418 1.78lnPrivK 0.538 4.04 0.133 lnPubK 0.118 0.053 2.23 ΗK 0.014 0.009 1.69 0.047 0.024 1.95 Trend Inefficiency Constant 0.080 0.287 0.28 $\hat{\sigma}_{arepsilon}^2$ 0.935 0.744 0.418 1.78γ 2.44 LR-statistic (y=0)* N. of observations 76 N. of cross-sections 19 * The LR statistic critical value at 10% for a mixed chi-square distribution with 2 degrees of freedom is 3.808, according to the tabulation of Kodde and Palm (1986).

	1970	1980	1990	2000	Average	Ranking (average)
Australia	0.921	0.896	0.867	0.922	0.901	. 8
Austria	0.856	0.851	0.839	0.820	0.842	13
Belgium	0.963	0.969	0.977	0.974	0.971	2
Canada	0.979	0.956	0.904	0.932	0.943	3
Germany	0.821	0.820	0.825	0.800	0.817	16
Denmark	0.936	0.915	0.923	0.966	0.935	4
Spain	0.969	0.945	0.932	0.877	0.931	6
Finland	0.799	0.810	0.791	0.913	0.828	15
France	0.909	0.879	0.874	0.871	0.883	9
UK	0.820	0.815	0.841	0.896	0.843	12
Greece	0.877	0.805	0.704	0.725	0.778	19
Ireland	0.729	0.709	0.748	0.970	0.789	18
Italy	0.920	0.944	0.944	0.928	0.934	5
Japan	0.916	0.854	0.810	0.747	0.832	14
Netherlands	0.893	0.859	0.853	0.874	0.870	11
Norway	0.851	0.828	0.854	0.960	0.873	10
Portugal	0.948	0.930	0.898	0.841	0.904	7
Sweden	0.860	0.794	0.766	0.829	0.812	17
USA	0.977	0.964	0.974	0.983	0.975	1
Correlation with	0.956	0.901	0.791	0.860	0.894	

Dependent	Constant	Government	R-square	Ν
Technical	0.844 ***	0.112 **	0.20	19
efficiency change	(8.35)	(2.04)	0.20	
TFP change	0.891 ***	0.100	0.14	19
5	(8.37)	(1.65)		
SFA efficiency	0.095	0.071 *	0.17	19
change	(1.42)	(1.87)		
Note: t-statistics in bracke	ets.			

Empirical analysis (9)





